
9+4 = __

20+9= __

19+2=__

20-4= __

8+8= __

3+1= __

4+2= __

14+4= __
31-4= __

16-4= __

6+5= __
21+5= __

40+10= __

40+4= __

72+5= __

38-4= __
34+6= __

10-4= __

12+7= __

50-5= __

STONE-GUARDIANS ADDITION MAZE
The stone guardians are blocking the path ahead of you. They will only let you pass through signs which have answers that end in a 4 or a 6. 

Can you find your way through the maze? WORK OUT THE EQUATIONS IN THE SIGNS – YOU CAN ONLY GO THROUGH SIGNS THAT HAVE 
ANSWERS WHICH END IN A 4 OR A 6 – e.g. 10+4 = 14 which ends in a 4 so you can go through that sign. 



10+11= __

15+3= __

9+9=__

9+7= ___

7-6= ___

46-2= ___

21+7= ___

8+7= ___

9-5= ___

4+7= ___

23+4= ___
14+2= ___

28-9= ___

60-7= ___

7+6= ___

100+8= ___

13+4= ___

30-4= ___

19+3= ___

31+ 8= ___

3+6= ___

42-10= ___

17-10= ___

39-7= ___

51+8= ___

34-6= ___

22-5= ___

16+8= ___

SAVE THE QUEEN ANT ADDITION MAZE
Help! The Queen ant I getting attacked by a monster bug. Guide the warrior ant through the ant maze to save the queen – you can’t go 

through any ant rooms which have answers which end in a 1, 2, or 3. WORK OUT THE EQUATIONS IN THE SIGNS – YOU CAN’T GO THROUGH 
ROOMS THAT HAVE ANSWERS WHICH END IN A 1, 2 or 3. – e.g. 12+1 = 13 which ends in a 3 so you can’t go through that room. 



You find a map leading to a hidden temple where vast treasure is hidden. You need to find your way through the forest maze and past the forts 
before you can arrive at the temple – not all the forest forts will let you pass. WORK OUT THE EQUATIONS IN THE FORTS – YOU CAN NOT GO 

THROUGH FORTS THAT HAVE ANSWERS WHICH END IN A 6. – e.g. 15+1 = 16 which ends in a 6 so you can’t go past that fort. 



JOURNEY TO THE HIDDEN TEMPLE ADDITION MAZE
You find a map leading to a hidden temple where vast treasure is hidden. You need to find your way through the forest maze and past the forts 
before you can arrive at the temple – not all the forest forts will let you pass. WORK OUT THE EQUATIONS IN THE FORTS – YOU CAN NOT GO 

THROUGH FORTS THAT HAVE ANSWERS WHICH END IN A 6. – e.g. 15+1 = 16 which ends in a 6 so you can’t go past that fort. 



12-3= 

31+3= 
14+4= 

5+6= 
29-2= 

49-6= 

11+6= 

50-10= 

23+5= 
31-2= 

4+4= 
12+3= 

27+2= 

31-3= 

60+8= 

41+7= 

3+9= 

3+4= 

45+5= 15-7= 

40-3= 

100+3= 
8+4= 

15+4= 20-8= 

18+7= 

12+7= 

10-5= 

32+4= 

16+2= 

24-5= 

31+7= 

11+9= 

20-4= 

POT OF GOLD ADDITION MAZE
Help the Leprechaun find the was to the end of the rainbow to his pot of gold! He can travel between the clouds by climbing the ropes, however 

he can not go on clouds that have answers that end in 5, 6, or 7. WORK OUT THE EQUATIONS IN THE CLOUDS – YOU CAN NOT GO THROUGH 
CLOUDS THAT HAVE ANSWERS WHICH END IN A 5, 6, or 7. – e.g. 15+1 = 16 which ends in a 6 so you can’t go past that cloud. 
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